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Time: 10° Chem 205 — Friday, March 9, 2012
Drop Quiz 2 H. Degb

Name:

1. What is the oxidation number of Cl in C1OQ4~ ?
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2. Oxalic acid (H2C,04, molar mass = 90.04 g/mol) is present in many plants and
vegetables. 24.0 mL of 0.0100 A/ KMnOy solution is needed to titrate 1.00 g of
impure sample of HyC,04 to the equwalence point. The equation is:
2MnO4 + 6H" + 5H,C,04 — IMn** + 10CO, + 8H,0

a) What is the number of moles of oxalic acid titrated? 2n ( ¥ <, O Y} =S @ (had “‘)
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at is the percent by mass of H>C04 in the sample?
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c) What is the reducing agent in the above :eactlom L -
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3. A potassium permanganate aqueous solution that is old prepared is often characterized
by the presence of suspended brown solid particles. What are these particles, and how
they are formed?
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Time: 10’ Chem 205 Friday, Feb. 22, 2013
Drop Quiz 2 H. Deeb

Name:
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|. What is the oxidation number of Cr in KoCrO4 7 g’} { )
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2. Oxalic acid (1 ( [2C'>O4, molal mass = 90.04 g/mol) is present in many plants and

vegetables. 24.0 mL of 0.0100 M KMnO, solution is needed to titrate 1.00 g of
impure samp]c of H,C,04 to the equivahncc point. The equation is:

2Mn04 +6H" l~,_5H~:Ca 2MnE£10CO, + 8H,0
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a) Wh/'n is ﬁm‘rmmb I;leﬁ—mfﬂmalic acid titrated?
mluk:\(J\\,i:_ - m 14 LLQ__ Oq
~ 5
. ; — - fate o — g _I'% -
NMac, O = $ Mualy” - §x 96180 I, 0xie” = _ |} gy
= A
X o r___:

b) What is the percent by mass of H,C204 in the sample? |
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¢) What will be the change in color at the end point in this titration? (assume that
KMnQy, is added using the buret) ' _
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d) Write the balanced oxidation half reaction involved.
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